MAP 2302 (Differential Equations) _._ Ay] Sinlers
QUIZ 8, Friday March 30, 2018

Name: PID:

We have: L(t")(s) = nl/s" !, L(sin(bt))(s) = b/(s% + %), L{cos(bt))(s) = s/(s? + b?)),
L{e*)(s) =1/(s — a).
1. [6] Use Laplace transform to solve the initial-value problem:
= —1. (Show all your work) Set Ys)= Py, (hes)
, éﬂ e rﬁaw,éﬂ‘bw /)m‘/ﬁv&%}

v 2 y=tet, y(0)=1, ¢(0)=

r ~t)psye
%{y”_{. Z,g‘_c—y) (s)= x(eér)cs)s Gy
X g ) ee) = SEYE) = Syle)=Ylte) = sTY &)= S HL
XCy')esy = syes) - gce) = 7=

Db becow—an tRe! 2 1
= S
s -{«?_{‘f-l)}/(SJ = S+{ +* (34“()2‘- or CEH) VE)z Syl + )
So st Ao f
Meanca L% f
Ge)=E ()t = X (m)(f«) 4 (SH)CF) €)
- e"" { /é & éy %G_ J_m,uwgf«t)'aev\
2. [2] Find the inverse Laplace transform: (Show all your work)
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3. [2] Use the convolution to find the inverse Laplace transform: (Show il your work)
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